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(iii) What is lexicographic orderingon N X N | |
| . (ix) Tt({a b},”) beasemigroupwherea*a=>b

where N is the set of natural numbers ?
then can you say that b*b = b 7 Justify

.(iv) Givea recursive definition of the set of all your answer.

positive integers congruent 1o 2 modulo 3.
(x} Let a, b are two elements of a lattice

(v) Howmany positive integers less than 1000 (A, <). Show thata A b=biffa v b=a.

exit which are divisible by 7 but not by 11 7

2. Ja) Show thatthe hypotheses (p » q) v rangd,

; ) ; _ "
(vi) What is symmetric closure of the relation / s SRS 5

R={(a,b)|la>b}?

Ab)  Using mathematical induction show that

(vii) What are the principles of drawing Hasse 3 _ s divisible by 3 whenever isa

agrars of apart i ion ? S
diagram of a partial ordering relation sosiive integer 5

(viil) Define chromatic number of a simple graph | | L
Er 3. (a) UsingWarshall's algorithm find the transi-

————

nd thatof a pl ' )
a at of a planar graph. rive closure of the relation whose matrix
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representation is given below.

e & UM
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Let R be a relation on the set of ordered

pairs of positive integers such that
((a, b), (¢, d)) e Rifand only if ad = bc
Showthat Risan equivalence relation. 9

Show that the relation ‘set inclusion’ on the
power setof S is a partial ordering refation.
Draw the Hasse diagram of the relation

where S={a , b, c}. 5

How do you differentiate between the

maximal element and greatest element of a

Contd.

5. A3)
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poset 7 Show that there 5 exactly one
greatest element of a poset, if such an
slement exits. What about maximal element ?

5

Solve the following recursive relation

e

a =a_.—a_,gventhata =1 anda,=0

5

Use generating function to find the number
of ways to select r objects of n different
kinds if we must select at least one object

of each kind. 5

Define a tree. Show that an undirected
graph is a tree if and only if there is an

unigue simple path between any two of its

verlices. 5
5 PTO.
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